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Refera 3 (i) garon & foro 33 :
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(b)
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(b) v fam FEwm &1 98 T W R
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FTR & @RI AR gumu w1 fae
e fau 9 i %@ 2 |
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Directions for the following 3 (three) items :
Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 2

More than half of Indian women and almost
a quarter of Indian men of working age suffer

Passage - 1

We often hear about conflicts among
different States in India over river waters. Of the
20 major river systems, 14 are already
water-stressed; 75% of the population lives in
water-stressed regions, a third of whom live in
water-scarce areas. Climate change, the demands
of rising population and the need for agriculture
to keep pace, and increased rate of urbanization
and industrialization will exacerbate water
stress. According to the Constitution of India,
water is a State subject and not that of the
Union, except for regulation of inter-State rivers.
Key to ensuring balance between competing
demands of various stakeholders is a basin-based
approach to allocate water amongst constituent
regions and States. Allocating fair share of water
to them requires assessments based on objective
criteria, such as specificities of the river basin,
size of dependent population, existing water use
and demand, efficiency of use, projected future
use, etc. while ensuring the environmental needs
of the river and aquifers.

from anaemia. According to studies, they are
anywhere from 5 — 15% less productive than they
could be, as a result thereof. India also has the
largest tuberculosis burden in the world, costing
170 million workdays to the country annually.
But what is just as important as lost productivity
now is lost potential in the future. It is becoming
increasingly clear that on many measures of
cognitive ability, malnourished Indian children
perform two or three times worse than their
adequately nourished peers. For an economy that
will be more dependent on highly skilled
workers, this poses a significant challenge. And it
is one that really should be addressed given
India’s demographic outlook.

2. Which one of the following statements best
reflects what is implied by the passage ?

1.  Which one of the following statements best
reflects the most rational, practical and
immediate action required to ensure fair and
equitable allocation of water to different
stakeholders ?

(a) A national, pragmatic, legal and policy
framework for water allocation should
be made.

(b) All river systems of the country should
be linked and huge aquifers created.

(¢c) Water channels between regions of
water surplus and regions of water
deficit should be created,

(d) To mitigate water crisis, water demand
of sectors such as agriculture and
industry should be reduced.

XDTG-S-DNK

(3-A)

(a)

(b)

(c)

(d)

Education system must be strengthened

in rural areas.

Large scale and effective
implementation of skill development

programme is the need of the hour.

For economic development, health and
nutrition of only skilled workers needs
special attention.

For rapid economic growth as envisaged
by us, attention should be paid to health
and nutrition of the people.
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uftesg - 3

wRa #, e fram dmma i o
F9% &, HA e & o Gvaa: o1 3R gEd
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Frafafga st & @ 991 w, 39 wf=de %

FEF U FF wARE e o adem|

W ! Taad ®9 ¥ wfafafed w2 2

(@) Ty WREdd F IEET EHeH 3
TWET B FH FA F FRATS G
&9 ¥ WHA & A & |

(b) Ay UREdT & FROT W H Y-I9IN
gfoedi % Hay § Tt Aifadi § gfad
B R |

() Traml & Siflen ygw 32 sHEH F
o o7 % o Miemfea 6 2wl
g1

(d) <fh, gwET F FH HET GV TE R,
THRI &l =i fh Feraryg fads & ufa
@ wfafsean 2g fifeat ama @ |

(4-A)

TS & TH U feod # g8 IR o @, @ e
The 4 3 7B AR w9 F | AR =@
T B TH Sl o @ o & forg e &
¥ Ifos ¥ F s W (o @ amm
@) Jd Frerear 8, dt 38 Afeman e v
FH M 2
(a) 27
(b) 36
(c) 44
(d 45

W FooiaTd Had UH W od T d Wb IR
B WA §Y fohe alient & S-S 25 W &
bl B, el W S99 H HE A ATHA B
Hehal & 2
(a) 18
(b) 19
() 20
d 21

IR 73 3R 9R e # o diedie ww W
H T Ud 9 b T e # greEn
2 | Al o= = faww § agfees w9 @ en
amar 8, o Fr=fafea ot w famm fifte .

1. % dva 2 f5 J=dies @ = Tem
forwms # wm |

2. U8 ¥9q 98 ali* & ol Faa w3 &
T foawret & o1 @ € |

39 HYE A A PHA-AVA TE /R 2

(a) ad 1

(b) HaE 2

() P aﬂl' PXACI]

d Fa 1,782
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Passage - 3

4. Raj has ten pairs of red, nine pairs of white

In India, a majority of farmers are and eight pairs of black shoes in a box. If he
marginal and small, less educated and randomly picks shoes one by one (without
possess low adaptive capabilities to climate replacement) from the box to get a red pair of
change, perhaps because of credit and other shoes to wear, what is the maximum number
constraints. So, one cannot expect of attempts he has to make ?
autonomous adaptation to climate change. @ 27
Even if it was possible, it would not be
sufficient to offset losses from climate (b) 36
change. To deal with this, adaptation to () 44
climate change is paramount, alongside a (d) 45

fast mitigation response. Another solution is
to have a planned or policy-driven 5.
adaptation, which would
government to

In how many ways can a batsman score
require the exactly 25 runs by scoring single runs, fours
up with policy

recommendations. Perception is a necessary

come and sixes only, irrespective of the sequence of

scoring shots ?

pre-requisite for adaptation. Whether @ 18

farmers are adapting agricultural practices ® 19

to climate change depends on whether they

perceive it or not. However, this is not always € 20

enough for adaptation. It is important how a d 21

farmer perceives the risks associated with

climate change. 6. There are four letters and four envelopes and

exactly one letter is to be put in exactly one

3. Which one of the following statements best envelope with the correct address. If the

reflects the most logical and rational message letters are randomly inserted into the
conveyed by the author of the passage ? envelopes, then consider the following
(a) Adaptation to climate change and statements :
mitigation response are basically the 1. It is possible that exactly one letter goes
responsibilities of the government. into an incorrect envelope.
(b) Climate change causes a change in 2.  There are only six ways in which only
government policies regarding land use

two letters can go into the correct
patterns in the country. envelopes.
(¢) Risk perceptions of farmers are

important for motivating them for

Which of the statements given above is/are

correct ?
taking adaptation decisions.
(a) 1lonly
(d) Since mitigation is. not possible,
governments should come up with (b) 2 only
policies for quick response to climate (¢) Both1and2
change. ' (d) Neither 1 nor 2
XDTG-S-DNK (5-A)
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e 3 (i) svaron & ferg g

7. 9 85 x 87 x 89 x 91 x 95 x 96 I 100 ¥ I 3,

A SHe AT @A R 2 Fefifea diT aR=ael 1 9igy ik R=aq & 9
37 FI JIHI F I T | 37 3 F fow

(a 0 3T9% I T 37 TR=oq W & renia &7 =T |

(b) 3 ufede -1

EZ}) j S IESH A Ia9H dWd H aigHed |

(57242)>753<1  F YOR § FHE &1 3H T
22

@) "2

(b) 4

© 6

d 8

Ife ABC 3R DEF 21 & 3-3ihi &I F&Im &,
39 YR f# A, B, C, D, E 3 F fim I3« 3i%

Teid §, 9 Sy HI 39 9 b Hed § IR 34
Fm e w1 | 36t ffw, denfiehe afada %
g wigsy & Sfarw $um | oo fasew aw &
wHal & A wEg A A, SR g % oum @
1ag fawey @ smem f ar at Wit e woash
Y Ice I HH R I A 0 F oA F
govE @ difsq B9 ® | W e v
gftoret % @ & s TE wa, 3 fawa @ s
% | fva Sorary wRed % sR § T s
weivd &l T Tehdl |

%, 3@ wwR f& ABC+DEF=1111, @

frfafiea s § 4 SF9-a1 &, 39 = F
A+B+C+D+E+F S AA ®T R ?

A@H g A [ G %l FaW9 ®9 &

11.

(a) 28 afafafad 2 o
. (a) S HAEE Ic@e A 8, TEd & fb A
s s A % w7 & o 1 sy s i Fiw
d 31 W'

10. D ¢ 3.3ii I G 3@ IHA 2, f6 3@ T (b) Wﬁsﬁﬂﬂ%%rﬂm@qﬁaﬁ%gﬁ
T IH F ATEE A I GG R | ¥ gafa Nefieh fawm 8@ |
D % &S & b 3N IHE & 37h & o9 JWN (¢) & e WfiEhl § gum 9 3, 99 9@
R e Icao & faged i wdten wd @
@ 0 gfgaengt worfifa 78 2 |
® 7 @ Hfe wfass 1 denfiehia afads sififea

2, 7u I H Tl St @k w®

sl amatita feman s =nfae |
@ 9
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7.

8.

9.

10.

XDTG-S-DNK

What is the remainder when
85 x 87 x 89 x 91 x 95 x 96 is divided by 100 ?

ka).. 0
o 1
e} 2
d 4

What is the unit digit in the expansion of
(57242)9><7X5X3X1 ?

a2
(b) 4
(5
d 8

If ABC and DEF are both 3-digit numbers
such that A" B, C, D, E and F are
distinct digits that
ABC + DEF = 1111, then what is the value of
A+B+C+D+E+F ?

non-zero such

(a) 28
(b) 29
(c) 30
(d 31

D is a 3-digit number such that the ratio of the
number to the sum of its digits is least. What
is the difference between the digit at the
hundred’s place and the digit at the unit’s
place of D ?

(a 0

- 7

() 8

d 9

Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

The

atmosphere now will affect the climate in the

emissions humans put into the
middle of the century and onwards. Technological
could make a future

transition away from fossil fuels cheap or it

change, meanwhile,
might not, leaving the world with a terrible
choice between sharply reducing emissions at
huge cost or suffering through the effects of
unabated warming. Businesses that do not hedge
against the threat of uncertain outcomes fail. The
world cannot afford such recklessness on climate

change.

11. Which one of the following statements best

reflects the crucial message conveyed by the
author of the passage ?

(a) Businesses that cause emissions may
need to close down or pay for pollution in
future.

(b) solution is technological

development related to the issues of

The only

climate change.

(c) Waiting to deal with carbon emissions
until technology improves is not a wise

strategy.

(d) Since future technological change is
uncertain, new industries should be

based on renewable energy sources.

(7-A)
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ufeds - 2

qafeoiy aens ¥ ey gad e
I ot § | Sea-deft § awfife sgamEt @
el 1 w@reen i grend F9 & T
fopg 3@ fom &1 STgATT ST SEYE ST R |
e grens & g #, = W
T YHTE AT T Bid 8 SR gafee Srgar
IR A I E | g IR W F R d
ferra fapea-saa a&ga: Sfe ot 7 & &=
FT Beh o Ghd & | qM, TS Th HI SIEH,
A fawedi # T | qE wfew Il
femamd i 2 |

12. f=fafiga sl & @ | o, 9 =g @
frerrelt ST T arelt Taifys b qEERon
% gaH €9 ¥ ITeAd HT 8 ?

(a) B G¥ad: UHIM 6 3WE I(ER W
I ¥4 @9 T IS Fohal 2 |

W i iR e w@rer gedt
T I FA HHAT THR 1 HH 2 |

(b)

(c) w@reem H wn H I GHA 2, W &

aietefi auEna @ eE 7 femn s |

g et % @9 R qEr
Tl % W @ e N % wfae
SFETEH d-atie i & T E |

(d)

XDTG-S-DNK

13.

ufteds - 3

T AR AR ARE | FO
%1 dt 79 & fofy ] 6 ot Hiom & o 3R
TS A 2, Ak S Fgq WA TE 2 |
TEY TEHH W H TGt B W 2 | $Hb
ey BN WRAIEHE  SHaRdIdl W
wgd w91 aw N Wi @, fomd 3w snfde
wifd @I, St ThE % fog I A w
IAd HA g AW 8, IHE-TE B oA Hl
T & | 3 @t & faw, wwen difts
WM d Hifta vde sta gge fi e q
B A R, R o @AE sF S @ S
Fh O fawm & fou smavas 3F dww
o oH TE war | gt g | 9w o Ean
BN T RO N ¥ F I7 B R it @@
vgfoat wgfed 9 @ A 9ww SEEl %
IgET TE | W | ol 9% F S A
fears e BT R # |

TH &) gaion ®9 4 Sfafafad s 2 2

(a) wEMwm g @ A W T
I F TH Tih b T H g W H

wrEff<=a fm s =fEe |

(b)
foram-foamet % &g & T =1fRT |

frafafea Hui § @ F9-a wF, 39 =8 &

T @re-aaTRa 9N i 39 HAifa fawas

UG AR TG HEA! & T
T @ragere 1 UMY T §gEd oA
ST =Ry |

Iy @ et renfifet 1 s
+ gl @ aegeit # i dwe
I MiFA F 3= I FAT 911 |

(c)

(d)

(8-A)
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Passage - 2

Environmental problems cause health
problems. Substantial changes in lifestyle can
reduce environmental or health problems, but
this idea appears almost impossible to adopt.
With environmental problems, individual efforts
can be perceived as having a negligible effect and
therefore lead to inertia. With health, on the
other hand, individual choices can make the
difference between life and death, literally. And
yet, barring a few, there seems to be the same

collective lethargy towards making their choices.

12. Which one of the following statements best

implies the most rational assumption that can

Passage - 3

Many people are not eating the right food.
For some, it is simply a decision to stick with food
they enjoy but which is not too healthy. This is
leading to an increase in non-communicable
diseases. This in turn leads to major burden on
our health-care systems that have the potential
to derail the economic progress which is essential
for the poor to improve their lives. For others, it
is about limited access to nutritious food or a lack
of affordability, leading to monotonous diets that
do not provide the daily nutrients for them to
develop fully. Part of the reason nutrition is
under threat worldwide is that our food systems
are not properly responding to nutritional needs.
Somewhere along that long road from farm to

fork, there are serious detours taking place.

be made from the passage ?
13. Which one of the following statements best
w likel d
i LAY owE ey mosey o8 reflects the crux of the passage ?
cure than prevention.
(a) The scheme of Universal Basic Income
(b) It is the job of the government to solve should be implemented worldwide as a
our environmental and public health way of poverty alleviation.
problems. (b) We must place food-based nutrition at
() Health can be protected even if the centre of our policy debate.
environmental problems go on (c) Nutritional status of food should be
unattended. improved by creating appropriate
, genetically modified crops.
(d) Loss of traditional lifestyle and the
e (d) Using modern food  processing
influence of western values led to some
L technologies, we must fortify food items
unhealthy ways of living.
G with required nutrient elements.
XDTG-S-DNK (9-A)
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14. 99 99 QUi p, q, 1, s, t § & (3mavTs & 6

15.

16.

XDTG-S-DNK

3 U A 7 &) fiF am & o I @ 3 faww
2 | Frafafea w fa=m Hifs .

1. p+q+r-s—-tFfasuaamg )

2. 2p+q+2r-2s+t AT wT d fawm & |

39wl § ¥ HA-A/A TE AR 2
(a) Had 1

(b) HIdA 2

(¢) 1323

@ Fa 1,72

AT HEAT p R UIST AT ¢ & a) H
Freafafga o faem #ifs

pt+c
p-c¢
2. 2p+cﬁ'ﬂ@¥ﬁﬁﬂ%l
3. pc fowm & wHa 2 |

39 HYH § A PPN Y GE R 2
(a) ad 1 3R 2
(b) Hae 2 3 3

(¢c) ad 13 3
@ 1,23R3

1. g9 B Gl 2 |

fereft 3-37ai it T@AT ABC #I D & oM HH T
TUHE%SA 37DD T BaT ®, 9Ef A, B, C 3R D
A YRR IFE | A+B+CH AR TR 2
(a) 18

(b) 16

(¢ 15
(d) I Afwsl & Hru Ayl & fFan
T Fehal

17.

18.

19.

20.

(10-A)

X, Y 3R Z & gt & fredt ft =m & fom,
%(szm%mﬁs-dﬁﬁdw%aﬂmw
A

(a) whaw 73 117

(b) haed 1131 139

(¢) haw 73M 138

@ 7,113R 137

125 H4EH 9 Ush THIHN TS & &9 H qaredrd
fpu mu € | fpad R W el ¥ 3= WAl g

fRgud?
(a) .27
(b) 25
{c) 21
(d) 18

T 11223344 % 31 HI YAAaieyd i
8-31hi ! frat T s w1 Gt §, 3@
y#r 6 faum 3 fauw el w & 3 @w
3 T9 TIE T E ?

(a) 12
(b) 18
(c) 36
(d 72

A, B, C 3e-3/ &M Hd gC forelt & #
FAY: 8, 16 3N 12 At & qu = wwad # |
AT A THAR HI HH HAT 8, kel B
TSI %! HTH HTT 8, el C FUAR I HH
Fa1 2; A T & srpen geeafoan it W &
2 3 3t o 7' w9 Wl war & | Fefafea
oAl W famm Hifvw -

1. I8 %M gefdar &l T & S |

2. I&FM 10 feF & qu & smom |

39 HUE § F PV TE BE 2

(a) a1

(b) Had 2

(¢ 13 23

@ JIA1,T82
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14.

15-

16.

XDTG-S-DNK

Three of the five positive integers p, q, 1, s, t
are even and two of them are odd (not
necessarily in order). Consider the following :

1. p+q+r-s-t is definitely even.

2. 2p+q+2r-2s+t is definitely odd.
Which of the above statements is/are correct ?
(a)
(b)
()
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

Consider the following in respect of prime
number p and composite number c.

p+e
p-c¢

i can be even.

2. 2p+ccan be odd.

3. pccan be odd.

Which of the statements given above are
correct ?

(a)
(b)
(e
(d)

1 and 2 only
2 and 3 only
1 and 3 only
1,2 and 3

A 3-digit number ABC, on multiplication with
D gives 37DD where A, B, C and D are
different non-zero digits. What is the value of
A+B+C?

(a) 18

(b) 16

(0 15

(d) be due to

Cannot determined

insufficient data

17.

18.

19.

20.

(11-A)

For any choices of values of X, Y and Z, the
6-digit number of the form XYZXYZ is
divisible by :

(a) 7and 11 only
(b) 11 and 13 only
(¢) 7and 13 only
(d 7,11and 13

125 identical cubes are arranged in the form of
block. How many cubes
surrounded by other cubes from each side ?

(a) 27
(b) 25
() 21
(d) 18

a cubical are

How many distinct 8-digit numbers can be
formed by rearranging the digits of the
number 11223344 such that odd digits occupy
odd positions and even digits occupy even

positions ?
(a) 12
(b) 18
(c) 36
(d) 72

A, B, C working independently can do a piece
of work in 8, 16 and 12 days respectively. A
alone works on Monday, B alone works on
Tuesday, C alone works on Wednesday; A
alone, again works on Thursday and so on.
Consider the following statements :

1. The work will be finished on Thursday.
2. The work will be finished in 10 days.
Which of the above statements is/are correct ?

(a) 1only

(b) 2only

(c) Both1and?2
(d) Neither 1 nor 2
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fAerforfea 3 (i) svamen & forg A3 :

feferfaa @7 TR=s) # 95T 3K IR=Dg F
AR TR T & I AT | 37 TN F

e
ferg

3T9% I FacT 37 YR=eiql W & myIia g7 =T /

21.
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ufess - 1
vl # wgwor fit gwen ¥ fwe % faw
Hifa-Fafar 7z grea & f6 gt & fou anfowm
e AT (AT whW) & AT S,
foreeri, Feefai, fmin $Efwaw = 5 w4,

& ggm | Hfawa $ui 3R FB THR A FA W
T Sfdsa & A1 39 @ 8 | g
CNG 3oHi &t e diva $99 3ifus PM
ﬁtmcozwmﬁlm%ﬁqm,ﬁﬁa
3oHI1 I gt ° e 3R NGwzﬂﬁ:ﬂfﬁﬁ
NO, J@fid #td & | feeft 4 +ff CNG ol
QWHHB’H%NO ¥ gREoT H e E R
ﬁmaﬁaﬁg&&ﬁqﬂm(ﬁmﬂaw)
sty wquu whewr @ it & 9% &, A
T Sfaery @A SHfea ® | avEeal 39
a1a it ? fF wgEl & didl & aR F il i
forvaaia g1 et sum W 3uersy &/, o 3

frfafga ot & & FFa &, W i
T = waltus Ifeged i aehema Fifkared
%I garaw ®9 & gfafafea s 2 2

(a) WU HW HH & U amEA W FEH
fror = wrif=a e gfvwa R
AP g 7 & hi 78 wfafseaned &
TGEUl N G BA @I B Wehdl, sfcen
QIEG-3UTE IYTTH 31feres THTereTei 2 |
safus yguur wiw % fam mE w@m
A W HE JHAT TR SAET =106 |
TGET I THEASAT HT WHAT A F BT
% IwE § wemEe 6 v wme ol
o 1 Bt 2 |

(b)

(c)

(d)

ufeds - 2

gar frm wmea (SR o) @A
Huf wt I it feEo Sueey w U &
fore siemfega #dft & | @ smumE @, f6
fom yem w0 Q@ fava § enfde it uorifae
e Y IR I gIA B, A goft aremt §
@i wafg 2 | vt fm e, sfasemt
T famdwo $t AR vg w1 wean 2, Pk
gfomTeEEy saTRa ifus frew, I=@ wafg
3R TR Bid & | Froves e e fedem &
T HA §, TE Fhed b WA, gug ¥ 3R
e faea foaifén, ot oft fRawfal % sfa
T agR fhe 9 # |

22, frafefaa st § @ B s, 3w These

TR ou Jfhgwh WM I HaH &9 A
yfafafeaa s 2 2

(a) T3 W fomaw 9% wge ghfEa Fe
fowa W # 29t o1 wEEqYl wie R |

gare o ye sfasert & favaeeaa
! =gl ? |

st goft aren T7 ghifvaa wa@ &
yfess™ 3= fm smee /9 @ |

(b)

(c)

(d) gu® fm wee weey qfd @ S g

TR |

(12-A)
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

To tackle the problem of pollution in cities,
policy makers think that drastic actions like
temporary use of odd-even number scheme for
vehicles, closing schools, factories, construction
activities, and banning the use of certain type of
vehicles are a way forward. Even then the air is
not clean. Vehicles more than 15 years old
comprise one percent of the total; and taking
them off the road will not make any difference.
Banning certain fuels and car types arbitrarily is
not proper. Diesel engines produce more PM 2-5
and less CO, than petrol or CNG engines. On the
other hand, both diesel and CNG engines
produce more NO, than petrol engines. No one
has measured the amount of NO, that CNG
engines are emitting. Arbitrary bans on vehicles
that have passed mandated fitness tests and

Passage - 2

Good corporate governance structures
encourage companies to provide accountability
and control. A fundamental reason why
corporate governance has moved onto the
economic and political agenda worldwide has
been the rapid growth in international capital
markets. Effective corporate governance
enhances access to external financing by
firms, leading to greater investment, higher
growth and employment. Investors look to
place their funds where the standards of
disclosure, of timely and accurate financial
reporting, and of equal treatment to all

stakeholders are met.

22. Which of the following statements best reflects
periodic pollution tests are unfair. What is i Lt S PR 3
needed is the scientific and reliable information £ I T L e
about the source of pollutants on a continuing above ?
basis and the technologies that will work to
reduce pollution from them. (@ It is an important agenda of the
21. Which one of the following statements best countries around the world to ensure
reflects the most logical and rational ;
implication conveyed by the passage ? access to good external financing.
(a) Arbitrary curbs on vehicles to reduce
pollution are difficult to implement. (b) Good corporate governance improves the
(b) Knee-jerk reactions ca..nnot solve the credibility of the firms.
problem of pollution but an
evidence-based approach will be more
effective. (c) International capital markets ensure
© A heavy. PF“"“%’ should be ?nforced.on that the firms maintain good corporate
those driving without periodic pollution
tests. governance.
(d) In the absence of laws to deal with the
problems of pollution, the (d) Good corporate governance paves the
administration tends to make arbitrary
decisions. way for robust supply chains.
XDTG-S-DNK (13-A)
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amaaﬁgqnaam%msﬂﬁﬁ;rm 7.

23. fTm=fafgs +o 4 @ sha &, 39 af=ae
g Frfi & @ o waifus gfegw e
THETA IFIAH Hl FaToH &9 § gfafefed wtar

22
(a)

(b)
(c)

(d)

24, 3fe

11917021=138, W23 & 4 @ 15 I HA
TR 2

(a)
(b)
(c)
(d)

25. WA T, x HE w9 qoles B, 3| YER
7x+96 I 2 x T I xH TP A Ewa & 2

(a)
(b)
(c)
(d)

uf=ss - 3 26.

28.

Ig avEs & 6 @l & fam-aw
Tyg Sa-fafavar aren gfaega &= & |
Bt FHelifvren (F-=H) wofa & 3 3
Sta-fafaaar @t @ wdEm # |
4 wgg Sa-fafavar et i digeh
& fomn 71 == &t s gt |
TR | awar Bt @ 6 1ot stavaesan
gwmﬁﬁmﬁaﬁaﬁﬁuéw 29
|

T9010=8 9@ 11 @ 30 = 5,

6
8
13
15

30.

10
11

12
IHqd: 3

XDTG-S-DNK (14-A)
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qﬁp, q,rﬁs@ﬁﬁﬂ?ﬁﬁ?ﬁm
TEITd &, @ (p + q)(r + ) T HETH 0 71 8 ?
(a) 230

(b) 225

(o) 224

(d) 221

9 #! 99 9 forg X HIE F&H N &8 STt 2 |
I N1 13 § fanfoa foran se, & Swwer w0
& 2

(a) 11

b) 9

e) i

d) ‘3

9-37h! I fFft T w v 3% 1 8 1 =@
e F T e & T e w2 | g
&1 % Il HT INTHSA 1 8 ?

(a) 64

(b) 80

(¢) 81

(d) 100

10 § 100 7% for@ S aret weft quitet & e
e |t 3Tt 1 IThS 4T R 2

(a) 855

(b) 856

() 910

@ 911

ABCD &% a1 8 | AB 3R CD Y&% W U&
fag; 3 BC 3 DA &% W § fim faig o
wrd & | 37 9% fargall # @ Rl i farmgatt
¥ & X fohem i fnge & o weha 8 2
(a) 16

(b) 18

(c) 20

d 24



Passage - 3
Elephants are landscape architects,
creating clearings in the forest, preventing

overgrowth of certain plant species and allowing
space for the regeneration of others, which in turn
provide sustenance to other herbivorous animals.
Elephants plants, fruits and seeds,
propagating the seeds when they defecate in other
places as they travel. Elephant dung provides
nourishment to plants and animals and acts as a
breeding ground for insects. In times of drought,
they access water by digging holes which benefits
other wildlife.

eat

23. Which one of the following statements best
reflects the most logical and rational inference
that can be drawn from the passage ?

(a) The home range of elephants needs to be
a vast area of rich biodiversity.

(b) Elephants are the keystone species and
they benefit the biodiversity.

(¢) Rich biodiversity cannot be maintained
in the forests without the presence of
elephants.

(d) Elephants are capable of regenerating
forests with species as per their
requirement.

24, If7¢9010=8, 9611 30=5,

11 ® 17 ® 21 = 13, what is the value of

2240157

(a) 6

) 8

- S

(d 15

25. Let x be a positive integer such that 7x + 96 is
divisible by x. How many values of x . are
possible ?

(a) 10

o3 M 1

() 12

(d) Infinitely many

XDTG-S-DNK

26.

27.

28.

29.

30.

(15-A)

If p, q, r and s are distinct single digit positive
numbers, then what is the greatest value of
(p+q)r+s)?

(a) 230

(b) 225

() 224

(d 221

A number N is formed by writing 9 for
99 times. What is the remainder if N is
divided by 13 ?

(a) 11
(h) 9
(c)

@ 1

Each digit of a 9-digit number is 1. It is
multiplied by itself. What is the sum of the

digits of the resulting number ?
(a) 64

(b) 80

() 81

(d) 100

What is the sum of all digits which appear in
all the integers from 10 to 100 ?

(a) 855
(b) 856
() 910
d 911

ABCD is a square. One point on each of AB
and CD; and two distinct points on each of BC
and DA are chosen. How many distinct
triangles can be drawn using any three points
as vertices out of these six points ?

(a) 16
(=18
(¢ 20
d) 24
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Rt 5 (aier) soaren & for A3 -

fFAefefaa diT whese & vizw ik R=da & #9
37 FIct FEIE & I P | 37 FEEn F forg
3T9% I FI 37 IR<sq) W & mka &7 T |

ufede -1

WA H, T Ul H Ea W guEH
IH ® | TRUMTH S5 1 AR ¥ i
9 wUEw MR ufesd # wen W 2, fwd
JEER/AETTA At 3 figem % fou sria
FY AV 9T & | I g9 H Uit A-FAT Hal
9 e Uit @ ? HeW ¥ ¥, T F@en §
g (fier smafdme it o= & «fiw), Tugw,
Y F 9YEE 3N WE-dd ¥ 9R ¥ uEe
3I9Yeh TR UTdl 2 | YR H FHAl § FEe 6
H-Ht Senfirh gatfies 393w 2, 98 379 w fnfk
2 T arafire & = R (arfq wes Safiefwofa
BT R) M SuH SN AR TN R | WG F
TE 3 Il w1 Jafrfeeia 9o
50 gfawa & fhfaaam saer 2, sk Saudas
(TR ¥ 3Hh THERU % foU U w21 B
et @par 2

31. 394w wfteae ¥ amun W, Ffefga qeumom
TR

T It & TRV, THER 3R
YUY EHR AR % 9@ @M
1R |

ETEA gAvifed 3 gAishor i Seifieh
Tl i amen At & 5 ol dm %
3TN FAOH Y ¥ Yefod S Tehd 8 |

39 qaarunati § & S wE 272 2
(a) a1

(b) e 2

(¢ 1 3R 23M!

(@ @ 1,782

1.
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32.

frafefiga st § & S s, 39 qfieag &
i & Haraw &9 ° gfafafad s g 2

(a) TR 39 R & Foil & 49 7AW
TR

Seuda, T 3 iR ¥ i F
S T Faifies ey alie 8 |

T 3E IuRme W g,
IR A-FI I H wEAd H
gffeea w0 8 vgen #em 2 |

Yd % THE 3@ Il &
Safrfievfis gew sufiee d el
&/ F9 & Iy U & fore gafed
T

(b)

(c)

(d)

afesg - 2

g e S @ 6 Sfaw @
Fffed 9 & omuhd gifta st w@memE
? | arafawa 28 @ f5 4% Sfew @dt sam
ra # et ff Frh T R o S & Rafvafia
T8 2, fram 3 3uvi, W w9 @, T Fad
yia § f6 -8 I 9% forw wed o= #,
dfes wfi-Ffi I+ W aliwl @ sEEe
w1 8 S f6 3 1 w1l ud=n wehd | e
& for, <fs wra # e sdE w1 92 TR w
T BT e 2, 31a: foham yr: @al & @rg @
Teue wa &, el enfary (cfffes) wmm
IR Wit Uy A wHA F | Hfawd Uy FaERi,
e % fou aqu g o ufeEl % pend
Ui AW F e B 2 | AR e s
-t W1 H T A, @ Fg IMIE F Y
W 99E ST Fehal @ | gl &/, 38 fham afk
Ha AU BT 8, T GE W GG SEAE AT
fafemm adf gan 2
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Directions for the following 5 (five) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

32.

Which one of the following statements best
reflects the crux of the passage ?

(a) Generation of energy from municipal

31.

XDTG-S-DNK

Passage - 1

In India, the segregation of municipal waste
at source is rare. Recycling is mostly with the
informal sector. More than three-fourths of the
municipal budget goes into collection and
transportation, which leaves very little for
processing/resource recovery and disposal.
Where does waste-to-energy fit into all this ?
Ideally it fits in the chain after segregation
(between wet waste and the rest), collection,
recycling, and before getting to the landfill.
Which technology is most appropriate in
converting waste to energy depends on what is
in the waste (that is biodegradable versus
non-biodegradable component) and its calorific
value. The biodegradable component of India’s
municipal solid waste is a little over 50 per cent,
and biomethanation offers a major solution for
processing this.

assumptions have been made :

1. Collection, processing and segregation of
should be with

municipal waste

government agencies,

2. Resource recovery and recycling require
technological inputs that can be best

handled by private sector enterprises.

Which of the assumptions given above is/are

correct ?

(a) 1lonly

(b) 2only

(¢) Both1land2
(d) Neither 1 nor 2

Based on the above passage, the following

solid waste is inexpensive.

(b) Biomethanation is the most ideal way of

generating energy from municipal solid
waste.

(¢) Segregation of municipal solid waste is
the first step in ensuring the success of
waste-to-energy plants.

(d) The biodegradable component of India’s
municipal solid waste is not adequate to

provide energy from

efficiently/effectively.
Passage - 2

There is a claim that organic farming is
inherently safer and healthier. The reality is
that because the organic farming industry is
still young and not well-regulated in India,
farmers and consumers, alike, are not only
confused about what products are best for them,
but sometimes use products in ways that could
harm them as well. For example, since organic
fertilizers are difficult to obtain on a large scale
in India, farmers often use farmyard manure,
which may contain toxic chemicals and heavy
metals. Certain plant sprays, such as Datura
flower and leaf spray, have an element called
atropine. If it is not applied in the right dose, it
can act on the nervous system of the consumer.
Unfortunately, how much and when to use it are

not well-researched or regulated issues.

(17-A)
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1.
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21
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(a)
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(d)

Had 1
e 2
1 3R 23T
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(a)

(b)

(c)

(d)

yia #, dfes @dft w gufe @d *
TIMENS % &9 | Uiearted T8 f6ar s
ey |
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TEEal 6 FE @ 2 |

e @dt 1 FE QAW AW T HA
% fore 78 g =nfew, wife onft oft su

ISl & fore g Afves s Ad & |
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fioct $® gyl % JNA YRa § @ 39N
% WEY T €Y ¥ 96 ¢ § | HRT IR0 I8
g R % Saneamw M onw dve @b
q & M F | B WaEd % 9% ¥ o 9%
QraTE 1 I 9td 1 ¥ Afues 5g T R, R
ot 358 FI h THE F @ Y d GEEE
T BN R | G W a%h, FN A B @
@, favy = ygW @wEE, F Iaed § gfg
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qIyur geenm gwifed g8 @ | g@e fdftw, e,
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@ i o e Bt R, e sro @
3 aryor g Y goe fuwearh @ wedt @

35. 39 fteag & nur W, fr=fafea qeumomd

1S TS B -

1. Had fasm @i & FEff=d w1 & fou
3R yerd i @ 7@ fien & wm &
g wH % fou uwer Hfy gerd
T%,ﬁﬁmmww
TR

2. F® & wHal W fofar & ama @
3R uftferfaeht @ & fow emocns

=1 GL& F1 THEYH ATETEF 2 |

4. T THUE HY gUed & fou fRam
% el A I9eM (TferEl) 3R aR
T A % fow & SR At @mvve
Fmd I Hd & IR zEfew 3 wEe
fafawar w foem @ & fow wgm 7@
g |

I § § HH-HH Ht qEurend dy § 2

(a) ad 1,234

(b) haw 23N 3

(¢) wad 33 4

d 1,2 334
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33. Based on the above passage, the following Passage - 3 :
assumptions have been made : Food consumption patterns have changed
substantially in India over the past few decades.
1. Organic farming is inherently unsafe for| This has resulted in the disappearance of many
both farmers and consumers. nutritious foods such as millets. While food grain
production has increased over five times since
2. Farmers and consumers need to be independence, it has not sufficiently addressed
educated about eco-friendly food. the issue of malnutrition. For long, the
Which of the assumptions given above is/are agriculture sector focussed on increasing food
TR production particularly staples, which led to
; lower production and consumption of indigenous
(a) 1only traditional crops/grains, fruits and other
vegetables, impacting food and nutrition security
(b) 2 only in the process. Further, intensive, monoculture
(© Both1and?2 agriculture practices can perpetuate the food and
nutrition security problem by degrading the
(d) Neither 1 nor 2 quality of land, water and food derived through
them.
35. Based on the above passage, the following
34. Which one of the following statements best assumptions have been made :
reflects the most logical, rational and practical 1. To implement the  Sustainable
message conveyed by the author of the Development Goals and to achieve
zero-hunger goal, monoculture
passage ? agriculture practices are inevitable even
’ X _ if they do not address malnutrition.
(a) In India, organic farming should not be 9. Dependence on a few crops has negative
promoted as a  substitute for consequences for human health and the
TR ecosystem.
i & 3. Government policies regarding food
(b) There are no safe organic alternatives to plann'mg need to incorporate nutritional
security.
chemical fertilizers. 4.  For the present monoculture agriculture
practices, farmers receive subsidies in
(¢) In India, farmers need to be guided and various ways and government offers
helped to make their organic farming remunerative prices for grains and
? therefore they do not tend to consider
sustainable. crop diversity.
i e L il e Which of the above assumptions are valid ?
e aim of organic farming should no @) ‘1.2 and S0y
be to generate huge profits as there is (b) 2and 3 only
still no global market for its products. (¢) 3and4only
(d 1,2,3and4
XDTG-S-DNK (19-A)
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36. forelt fesd # 14 wreft 72, 20 Aieft 12, 26 &t|39. Frfefes w famm Hifte, e w7 it Fom
2, 28 dieft 72, 38 @ 18 3 54 w¥a e & | wifeet & -
Frafafea suat w fa=m Hifse .

1. R R § ¥ acfoos w9 @ w1 @ o W fereft afem & 5959 A, B,C,D,E% |
¥4 wehn et S foh 3 0890 T w7 EwBdwnainds
YAH HET 1758 | F97-1: AN BfanfEa dufa & |
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3 YR feeh o fF o w @ i #972: DRmRcH |
FHYFHT TH g FavT &, d@ m

T T 1672 | #973: EQFRDH |

I HE § ¥ PAVA T ¥ 2 FY74: AMCTEAE

(a) %ad 1

(b) Had 2 394 W 3R wedl & aR § frfofea § @

(¢ 13K 23M |1 T TE R 2

@ AW 1LAR2 (a) HYA-1, HYA-2 3R FYA-3 Y97 HT IN
87. IR ZERO' # ‘CHUR % &9 ¥ foran o 2, % forg wafa & |

dl ‘PLAYER' % g w9 o foran smam 2 (b) HYA-1, HYA-3 I FHUF-4 T HT I A

(a) SOCAGT % fore waiea & |

(b) SODBGT () |t = FU e o WeT B I F

(¢) SODBHT

(d SODBHU AR

(d) uft IR YT YW H IW A F o

38. ﬁﬁﬁ%ﬂﬂﬁmﬁﬂnﬁﬁq mwgl

1. AJPYHABATIR |

2. CINDEHHAYH £ |

3. EIgH el awrIg | :

4 FIPADABER | ot b o

5. FAPHARTER | (a) 17,37, 47, 97

Ty Afe 39 & =afr /=afwral # Ruifa s@

¥ o Iwfr b Horl Y stravaar @ 2 (b) 31, 41,53, 67

(a) %ae g H (© 171,73,79,83

(b) e @ i

© ¥as SR (d 83,89,91,97

@ @t o=t i
XDTG-S-DNK (20-A)
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36.

317.

XDTG-S-DNK

A box contains 14 black balls, 20 blue balls,
26 green balls, 28 yellow balls, 38 red balls
and 54 white balls. Consider the following
statements :

1. The smallest number n such that any
n balls drawn from the box randomly
must contain one full group of at least
one colour is 175.

2. The smallest number m such that any
m balls drawn from the box randomly
must contain at least one ball of each
colour is 167.

Which of the above statements is/are correct ?
(a)
(b)
(c)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

If ‘ZERQ’ is written as ‘CHUR’, then how is
‘PLAYER’ written ?

(a) SOCAGT

(b) SODBGT

(¢) SODBHT

(d) SODBHU

Consider the following statements :
A is older than B.

C and D are of the same age.
E is the youngest.

F is younger than D.

F is older than A.

How many statements given

B

above are

required to determine the oldest
person/persons ?

(a) Only two

(b) Only three

(¢)  Only four

(d) All five

39.

40.

(21-4A)

Consider the following including the Question
and the Statements :

There are 5 members A, B, C, D, E in a family.
Question : What is the relation of E to B ?

Statement-1: A and B are a married couple.
Statement-2 : D is the father of C.
Statement-3 : E is D’s son.
Statement-4 : A and C are sisters.

Which one of the following is correct in respect
of the above Question and Statements ?

(a) Statement-1, Statement-2 and
Statement-3 are sufficient to answer the
Question.

(b) Statement-1, Statement-3 and
Statement-4 are sufficient to answer the
Question.

(¢) All four statements together are
sufficient to answer the Question.

(d) All four statements are not sufficient to

answer the Question.

Choose the group which is different from the

others :

(a) 17,37,47,97
(b) 31,41, 53,67
() 171,73,79,83
(d 83,89,91,97
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ufede - 1

AT 3 FEAEE — Sfiakg @ AR
FHA A & HHY G I a0 Gy T eI
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FEA-TaTy °fed g | aEd i wHaAnl F |
RadT 8 FY, qe-urer 3t gde wififeufoss,
s 3R s &9 & ywifed 2 & | %
T5 $9 TEat & fua It R, safoe weht amm
TE lted, @ aga s 6 aifeafs g
R W Bt & A1 AT Sty F weradt Bt R |
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T E

1. YHSHN A9 % HRU 960 T8 HA
2 3 wifers o9 wva 7% @A R |
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Ivdh qEurene § § S wd 22 2
(a) wad 1

(b) A 2

© 1 3R 23

@ J@1,T82

ufedy - 2

A I qEar — gehl "9 foR R
a1 I ° A3 i feraHt AT w1 3T W
2, 7o foeg & 18 wguur % &9 § w w=ar B
— % U aAfvaes faveivor § sarn mn 2 f6 wga
At IdE FEauTE B A Fowrn IR a1y
YU S | Th e # el T 2 fh adne
¥ TSN IUANT qErT 1 Afvaeh 3ftEa o 0-4
R 7 ag ok R R @A § femw M ogw
TEEISH I 40 Sfewra IME T wEe # S 2,
vafe 60 Sfaera argues # @ w2 | fawa &
ameft @ Aferes SEEAT 1 9N IH HEA F B
2 I 3= wEe IcuTed UH % fore wfvere Amsgem
I JaTH! & I F IS TE R | WISl H wQ
% fau foeft Tedom =ifie @ & o9 €, ok
Ffafeer Amsgrem iy, st 3R a1y # @ wman |
THeh JRUTHEEY A15gH HATHETES H 9gd AfUS
IESH BaT B, W U Yeor dHERE Mg sk
AR IFEEH N R, N FHW YR
e Sqwur g ®, f shelt i afe
gﬁw(@ﬁﬁm)aﬂtqawmﬁ@wma

|

42, frafefga ot 4 4 S o, @ = d

fifeq waifys ahama, Ifrge i frufas

e I Faran &9 § gfafafad s 2 2

(a) W 3IAEA IR wiewwr dEi *® fog
15LIoH o1 Afereh 281 39 fHart 2 |

(b) GfveTSe AR IeTehl BT IcqTe &g T8l
fer o1 gar, Fife @ Afves @™
T R ufasher T 99 |

(c) 3ifereh WEM § TSI T FANT A aTed!
el & faeredl w1 AfEE w37 @dt
FE =R |

(d) wGfverse Il & ITFM Irefl W @t
®H H SR PEATER (TERE]),
FHOfaa  (TEHiaem) i Afaw
@t 1 S =R |

XDTG-S-DNK (22-A)
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these

items should be based on the passages only.
Passage - 1

Scientists studied the vernal window —
transition period from winter to the growing
season. They found that warmer winters with
less snow resulted in a longer lag time between
spring events and a more protracted vernal
window. This change in the spring timetable has
ecological, social and economic consequences —
for agriculture, fisheries and tourism. As the ice

melts earlier, the birds don’t return, causing a

Passage - 2

A global analysis of nitrogen use efficiency —
a measure of the amount of nitrogen a plant takes
in to grow versus what is left behind as pollution —
says that using too much fertilizers will lead to
increased pollution of waterways and the air.
Currently, the global average for nitrogen use
efficiency is approximately 0-4, meaning 40 per
cent of the total nitrogen added to cropland goes
into the harvested crop while 60 per cent is lost to
the environment, says a study. More than half of
the world’s population is nourished by food grown
with fertilizers containing synthetic nitrogen,
which is needed to produce high crop yields. Plants
take the nitrogen they need to grow, and the excess
is left in the ground, water and air. This results in
significant emissions of nitrous oxide, a potent
greenhouse and ozone depleting gas, and other

fi i llution,  includi
delay, or lengthening in springtime ecological ai OF - el PO .
eutrophication of lakes and rivers and
wrents. contamination of river water.
41. With reference to the above passage, the|42. Which one of the following statements best
following assumptions have been made : reflects the most logical, rational and crucial
message implied by the passage ?
1. ing i i ing t
S¥hel wanming e CENNE SIS0 cOme (a) An enhanced efficiency of use of nitrogen
early and for longer durations. is imperative for both food production
2. Early spring and longer period of spring and environment.
is not good for bird populations. (b) Production of synthetic nitrogen
fertilizers cannot be stopped as it will
Which of the above assumptions is/are adversely affect global food security.
correct ? (¢)  Alternatives to crops that require excess
of nitrogen should be identified and
(a) 1lonly _
cultivated.
(b) 2only (d) Conventional agriculture using
synthetic fertilizers should be replaced
(c) Both1land2 ;
with agroforestry, agroecosystems and
(d) Neither 1 nor 2 organic farming.
XDTG-S-DNK (23-A)
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ufess - 3

Wiewfavgs weeEet d gnofw
et R wgwy Soey =w S
e fagidl % &9 § A S & | 3 on
fagra e * Toifos 3t e famedt =i
ywifad #d & | anft o, g Sieary aReda
Rrgtamatet o = # I 3T faga usgl %
= gdumfa 76 51 ae § | =, =i et
7 d gufenfyg @ | auify, Soeg wfeds
F ded H, > AWt R m@y #
qEISh-TSHIfae AMY & | 30Tel F5-ush ani
7§ 77 fufas ye= e @ 6 ey afeds @
Icdifsa =l 1 fade 3 & fou gomm,
wrenfifeai 3k fafem frm vor s9am & @
S | SoErg F faw § =, gomEl B %
FH i HiaEdl q6 diftd @ 2, dfcw sau
SFiaTg IiEdq % IEY Ahe & fOU Fae
3R g ot geaml & fou afagfd, w6
ifers = g Wit @ |

43. Tafafag oAl & @ S99 w, @ 9f=sde
SR =k Hattyes Ifehges, aehaa 3R Rufas
oW I garad &9 § gfafeferd s 2 2

Seag = gt 98 Seay H/augidl
& formi & foear & s gen E wifRRu |

wferefia gaea @ fova & e &9 @
foafta & ok T e gan 2 |

(c) 98 &N ¥ Joay uREdd & fimer
AN /Sarg IonfEt <l mmee @
figern # &1 w Es ger e # |

Soarg iadd, ot st #, siftresat
fofra 29l & #wor gu €, sEfow s
WR-I8H 1 391 39 3EHa Al g1
=Ry |

(a)

(b)

(d)
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44, HE gAYA P, i ®9 ¥ §ARE Ro% s

46.

(24-A)

TG AN @A 198§ Q & vt ® | AR
I8 gaud P, 9IYe ®9 ¥ GAIfGA S% arfdes
gl T W 1 99 d Q & W 7, @
frafefea 4 & s s wd 2 2

{a) :R=8

(b)) R>S
(c) ' R<S

(d) R=S

w8 fhad ua it & @ 1186 =1 fawfsa
HT T IR 31 74T 8 ?

tay .6
()27
(c) 8

d 9

aH ST, pp, qq 3N rr, 2-371 A FEA F,
aﬁp<q<r%|3ﬁpp+qq+rr=tt0,qﬂf
tt0 1S 3-31hi 1 T B, Fme sAftm 5=
¥ 8, at Fr=fafaa st w faem Hifse
1. p % 9wd qH I TS5 7 |

2. q % 999 Wl 6 G 6 R |

I HYE § A PV TE 22 2

(a) ad 1

(b) HIdA 2

(¢ 13 23Mi

@ Fa1,TE2



Passage - 3

Along with sustainable lifestyles, climate
justice is regarded as a significant principle in
environmental parlance. Both the principles have
bearings on political and economic choices of the
nation. So far, in our climate change summits or
compacts, both the principles have eluded
consensus among nations. Justice, in the judicial
sense, is well defined. However, in the context of
climate change, it has scientific as well as
socio-political connotations. The crucial question
in the next few years will be how resources,
technologies and regulations are used to support
the victims of climate change. Justice in climate
is not confined to actions relating to mitigation,
but includes the wider notion of support for
adaptation to climate change and compensation
for loss and damage.

43. Which one of the following statements best
reflects the most logical, rational and crucial
message conveyed by the passage ?

(a) Climate justice should be ingrained in
detail in the rules of all the new climate

compacts/agreements.

(b) Environmental resources are unevenly
distributed and exploited across the

globe.

(¢) There is an impending issue of dealing
with a huge number of climate change

victims/climate refugees.

(d) Climate change in all its connotations is
mostly due to developed countries and
therefore their share of burden should

be more.

XDTG-S-DNK

44.

45.

46.

(25-A)

A principal P becomes Q in 1 year when
compounded half-yearly with R% annual rate
of interest. If the same principal P becomes Q
in 1 year when compounded annually with S%
annual rate of interest, then which one of the

following is correct ?

(a) R=S
(b) R>S
¢ ReS
(d R=<S

How many natural numbers are there which
give a remainder of 31 when 1186 is divided
by these natural numbers ?

(a) 6
() *7¢
(¢): .8
d 9

Let pp, qq and rr be 2-digit numbers where
p<q<r.prp+qq+rr=tt0,wherett0isa
3-digit number ending with zero, consider the
following statements :

1. The number of possible values of p is 5.
2. The number of possible values of q is 6.
Which of the above statements is/are correct ?

(a) 1only

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

Downloadgd from www.cclchapter.com



47. I 1,2, 3 3R 4B, W i ° @ Feht ai 7y | AT 3 (1) TN % forg g

o 2, wft 37 it 4-viw  wEs @, mﬁ? ?ﬁ?ﬁ#ﬁmw:g
9 JHI & I ! ¥ FeIM
?:)20igjsmg,mw%. 37 I FacT §7 YR=DT) T & ATIIRT &7 FIRY |

48.

49.

50.

XDTG-S-DNK

(b) 8028
(c) 8878
(d) 9238

Th g6 %k ¥ H Fafeyd 12 aege § 9
cféomed faem # 10 AT AEga F W A
& 1 72

(a) .3

()11

Kok 12

d 66

g o MEr B, @ s 1004 B
FEmfE o

afedg - 1

F qfet & womme R afie (o
3 e, <E, onfe Seft e agh)
Qe 1 Hld SH1 @re 399 & 9fd T dngan
SUMH H GHL ST 2 | T8 AT 3R T
wqerEl F R ad fafe e ok Jaffs sl
q¥1 WEE % FR BN Al FiRe @ 6
T 8§ 9= @A gEEw A § | e, aifis
wcl hi e, wfaga dem gwed § gai §
9 H W A e Bt R, wEe 9 89 %
FRO BY WE % AWE H afeEt § aq-smeria
QT T Uk & e 9GH Hd 8, a9-39Tid
@ HEdl wHA 3T AUl & s ot

(a) HHAR

- . HETl AMEH B 3 |

(©) el 51. frfafiaa woei § @ s ws, 39 qfede &
(d) wfEm o g fou v et gfmma ot qde

7 e e & | R @ wm R @
A 3R R A & 80 Seea & | /R ° o
1 5T vE o # 25 deve, ga e
%1 39 Fhvg 3N R fpaa # 60 Fve o

W H HAWH w9 H yfafafaq s

22

(a) TE 3R ST &E ot wgem ¥
it arelt FfEl % o= g8l H @E

9 24 a1 g4t | s 1 =fRu |
IR T dw T R sl wm § (b) WA § aduE wEE F v @ e
2:003@%3%,%@?41?1313’!_3@?' e gl 78 51 gt |
el IR 0 T R S T o R A 2 (¢) WRA H TEl I weg & forw s qfie
(@) 4:00 F IH A fefigpa & 1 S gt &
(b) 4:10 &9 AR SR |

(¢) 4:20 9 39
(d) 4:30 99 I
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47.

49.

50.

What is the sum of all 4-digit numbers less
than 2000 formed by the digits 1, 2, 3 and 4,
where none of the digits is repeated ?

(a) 7998

(b) 8028

(c) 8878

(d) 9238

What is the number of selections of
10 consecutive things out of 12 things in a
circle taken in the clockwise direction ?

(a) 3

o 2

(e} 12

(d 66

If today is Sunday, then which day is it exactly

on 100 th day ?
(a) Wednesday

(b) Thursday
(¢) Friday
(d) Saturday

There are three traffic signals. Each signal
changes colour from green to red and then
from red to green. The first signal takes
25 seconds, the second signal takes 39 seconds
and the third signal takes 60 seconds to
change the colour from green to red. The
durations for green and red colours are same.
At 2:00 p.m, they together turn green. At what
time will they change to green next,
simultaneously ?

(a) 4:00 p.m.
(b) 4:10 p.m.
(¢) 4:20 p.m.
(d) 4:30 p.m.
XDTG-S-DNK

Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

Sourcing food from non-agricultural lands
(uncultivated systems such as forests, wetlands,
pastures, etc) in addition to agricultural lands
enables a systemic approach to food consumption.
It allows rural and tribal communities to sustain
themselves for the whole year and steer clear of
natural disasters and season-induced shortfalls
of agricultural food. Since the productivity of
trees is often more resilient to adverse weather
conditions than annual crops, forest foods often
provide a safety net during periods of food
shortages caused by crop failure; forest foods also
make important contributions during seasonal

crop production gaps.

51. Which one of the following statements best

reflects the most logical and rational message

conveyed by the author of the passage ?

(a) Food yielding trees should replace other
trees in rural and tribal areas and
community owned lands.

(b) Food security cannot be ensured in India
with the present practice of conventional
agriculture.

(¢) Wastelands and degraded areas in India
should be converted into agroforestry
systems to help the poor.

(d) Agroecosystems should be developed in
addition to or along with conventional
agriculture.

(27-A)
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ufesg - 2

sfadtfaml & IwEm/gEEm 3R R ¥
R A ATERAl AW AEEd R, 3@ uw R
Ti-gfit #1 vfedfes faem =1 o s gar 2
sfetfas-fmfar #afid g s sfme 5
ITEIRE 4 T F qafawor S s A, 39
ﬁwwﬁmﬁﬁwiﬂﬁmnmﬁtﬂmﬁa@
w0 w= h T R | yfesifaes Saefei @ 8 g
SR Syt Sl H wqr @ R | sfwy
fomior et & ami % sitwy.sfeh e &
B T FaH G R |

52. frafofen #eomi & & #a vs, @ qiede
g feu MU waifye gfage s saEEiEs
< %I gataw ¥4 § yfafafaa o @ 0

(a) 3UgH SfRVaTd IR WErHE T
AEEF 2 |

(b) wrM # i SEEd@ #owgE
AT 2 |

(© Sfvgyfld Shavei  wmr w1 @@
T P w1 wwa w@ite T smyfie
Fafercan T § srafifea € |

@ 3wgfmin et # fiew w5 ok
el ¥ W ey U & § wnfie
feram s =nfRu |

ufesg - 3

I e i faenerht fren F e oft
y Bid #, s faemeff R off W ey S
W A % Ina freme sisa § | 32 % A
ﬁ@m%ﬂﬁmﬁ,wmﬁim
HE B A FA F GG E ISR B B
T HE R | W rdfereEe ¥ o § ad
FAtfeat wm od &, siv s efee w@d %
R g # ¥ o oww t o A
FfeTEE ¥ WY HeH B = oSen § swm
E | Wi 'R oW wvE sfem 6 gfere
s o, = fien @1 wve e § w5
A 78 & T |

53. Fwfeifia el § & P v, 39 qfeRe &

Wi H HEToH w9 F gffafed s 2

(a) Tavawfdm s & fore, wia =) g
e e § R w0 Y sravasa
21

(b) WG T fvawf 78 a9 @@ wifs
B A AFHT WA @ =AE 2w R
3R 7 € 38 daffa s @ |

(¢ ol e yomeht § = frem ¥
B VA HA W A @ B s

=Ry |

@ Tt & s s & wran-far frew §
3R ToreraTl e % et % wfy wrrEs
EER

(28-A)
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plants is well known.
52. Which one of the following statements best|53. Which one of the following statements best
reflects the most logical and practical message reflects the crux of the passage ?

conveyed by the passage ?

(a) To become a global power, India needs to

(a) It is necessary to put proper effluent invest in universal quality education.
treatment protocols in place.

(b) India is unable to become a global power

(b) It is necessary to  promote because it is not focussing or promoting
environmental awareness among people. knowledge economy.

(c) Spread of drug-resistant bacteria cannot (¢) Our education system should focus more
be done away with, as it is inherent in on imparting skills during higher
modern medical care. education.

(d) Pharma-manufacturing companies (d) Parents of many school children are
should be set up in remote rural areas, illiterate and are unaware of the
away from crowded towns and cities. benefits of quality education.

XDTG-S-DNK (29-A)

Passage - 2

While awareness on use/misuse and
abuse of antibiotics is common knowledge, as
is the impact of dosing poultry with
antibiotics, the environmental impact of
antibiotics-manufacturing companies not
treating their waste has scarcely been
discussed at any length or seriousness thus
far. Pollution from antibiotics factories is
fuelling the rise of drug-resistant infections.

The occurrence of drug-resistant bacteria

surrounding the pharma manufacturing

Passage - 3

Benefits of good quality school education
accrue only when students complete and leave
school after having acquired the gateway skills.
Like one learns to walk before running, similarly
one picks up advanced skills only after picking
the basic foundational skills. The advent of the
knowledge economy poses new challenges, and
one of the severe consequences of having an
uneducated workforce will be our inability to
keep pace with the global economy. Without a
strong learning foundation at the primary level,
there can be no improvement in higher education

or skill development.
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54.

55.

56.
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40 = gUHR ¥4 § @2 € 3N I A w (AW
SifTe, s H-1) % 9TE U Soal & | 39
Fedd i gfmad fewn # I gediaRa (99)
fre ST 8 | S HHIH-1 39 Bedd & g
HHTH-2 Hl UTH AT 8, T HAH-2 3§ F=1
HHH-4 I U AT 8, S HHH-4 3 =1
-7 ! IH AT 2, 3N 36w 3@ am
uE fba s 2 | @ fpad wfeddl (s
HuTh-1 ! o) & 12 I8 Soan fR & s=1
SHHTeh-1 % B191 | & 2

(a) 14

(b) 15

()i 516

d 17

ST

ZZ YL NEXXXWW.WWW,..., A

1 HEF 4G &1 8 ?

(a) H

e |

(@) "l

@ M

¥ : W paZIaq¥E?

W—I:pxq@%ﬁﬁﬁl

FY7-2: p2FST & 29 |

3I9YH WA 3N wYEl F a1 # fefafaa § @

-8 T TE B 2

(a) 39 9 H IW, gH1 § ¥ Frel v wem
1 bl 39T e s wehar 2, fohg

T HYF HI Aol YA H A& e S
b |

39 9 H1 IW, gH1 4 8 fhet off u e
T hed ITINT L &1 51 Hhat B |

(c) 38 Y9 W 3T, I HUF I Th q1Y
I eI S wewar 2, g 31 A @
forelt U HUF 1 b I H A fE
1 Geha |

3 99 H IW, GHI HYA B TH Y
39 ek oft 78 & 5 g |

(b)

(d)

57.

58.

(30-A)

¥o7: W (p+q-1) TSR (p—q+1) W, &l
p,qaﬂtr‘{?ﬂﬂiﬁ?

FYH-1: (p-q) GATHS 2 |

FYT-2 : (p—1) FUTHS 2 |

I Y 3 HuEl & W) § Frefafas § @
HI-HT TF HE R 2

(a) 38 Y & IW, aF1 | § foreft w FuR
W1 3Fhel I9AM T s wear 2, foeg
TE HYF F b IFAM H G eI S
el |

39 Y &1 IW, a1 4 ° foret oft wen wum
T ehel TN X &7 1 Favel B |

3 Y H IW, HI HUHEl H TH Gy
I W e 1 wwar B, feeg O B @
foret U YT T Hhel I9FNT FX 4G feAT
ST Gehal |

9 U H IW, I HYA B TH Y
I e oft 7E faan S gear |

foeft sfifier &, 75 safeadl 3 =@ o,

60 Afal ¥ HIH ot 3R 15 =afeadi ¥ =

3R HE A A | gy A T fmed safed 3

I T8 & | TS Afdd I FHAHT TH 99

yard fomm | |

w7 Hfodis # ferae safer sufeera g 2

FY7-1 : 50 Al 4 2y foam |

Fy7-2 : Hfaws & B aret safwal i
HEA Fad qU oF At sAfadl
T i uig ot |

9™ WA 3R HuEl % 9n ° fFrefafes § 9

U1 TH T 2 2

(a) 39 WA &I IW, aH1 4 4 foreft v wem

W1 IFhel ITAM T S Fewar R, g

T FHYA H Al I7AT A& femr

Teha |

30 ¥ HI IW, gA1 7 | foredt oft w o

%1 Iehel IYANT T 3T 1 Fepelt B |

(c) ¥H ¥ & IW, QI HYA H TH a1y

I R fen o et B, g AT A @

feret wsh YA T 3hel IAM H AT fo

ST TR |

3H W H IA, I YAl B TH GY

I e oft TE femm s R |

(b)

(c)

(d)

(b)

(d)
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54. 40 children are standing in a circle and one of | 57.
them (say child-1) has a ring. The ring is
passed clockwise. Child-1 passes on to child-2,
child-2 passes on to child-4, child-4 passes on
to child-7 and so on. After how many such
changes (including child-1) will the ring be in
the hands of child-1 again ?

(a) 14

(b) 15

(0 16

d 17

55. What is the middle term of the sequence

Z,ZYVYV VXX XX, W,WWWW,..,6A?
{a) ' H
b) I
58.

(c).  J

d M

56. Question : Is p greater than q ?

Statement-1: p % q is greater than zero.

Statement-2 : p? is greater than q>.

Which one of the following is correct in respect

of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement
alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone.

(d) The Question cannot be answered even
by using both the Statements together.

XDTG-S-DNK (31-A)

Question : Is (p + q — r) greater than
(p—q +r), where p, q and r are
integers ?

Statement-1: (p — q) is positive.

Statement-2 : (p - r) is negative.

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement

alone.

(b)

The Question can be answered by using
either Statement alone.

The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone. '

The Question cannot be answered even
by using both the Statements together.

(c)

(d)

In a party, 75 persons took tea, 60 persons
took coffee and 15 persons took both tea and
coffee. No one taking milk takes tea. Each

person takes at least one drink.

Question : How many persons attended the
party ?

Statement-1: 50 persons took milk.

Statement-2 : Number of persons who

attended the party is five times
the number of persons who took
milk only.

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement

alone.

(b) The Question can be answered by using

either Statement alone.

The Question can be answered by using
both the Statements together, but
cannot be answered wusing either
Statement alone.

The Question cannot be answered even
by using both the Statements together.

(c)

(d)
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Referfera 4 () gvran & forg g :

Refitaa ar R=sql ! aigg sk sh=oa & H9
A Frt g & I AT | 37 g F frw

59. Tt 3-37ahi it w FEw W fa=m it |
J97: AR G R ?
FY7-1: I9 AT & IH| H1 ATHA JH F
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TGS & S 8 | :
ﬁﬁ'ﬂl’lﬂ%l m_l

394 WA 3R HYHl F AR § Frfefga § @

F-G1 T T R 2

(a) ¥H 999 &1 W, gH1 § 4 foreft v e &1
el 39T . fean s e R, b qmt
HYT HT Hbdd I K TE AT S

fopes & e = sfg 6 19 6

FEA & GRI HEET T R | 1491 vAEd ¥
W% S qfE (Jean Buridan) I e
Fool-ufed 3R ! fawedl ot sffFaarsi

g | FRU =TT FH N Euddr F an #§ o 2 | 74
(b) ¥ T FIW, GH1 4 A el oft v | wEeh A, v 1 @ F A w9 w9 ¥ s
1 3Thct ITANT e =1 whar R | el & ff9 @er @ | 9' $A 3 F @, T

3 Y H IW, EI HUE H TH Y
Iwm e e @, g A # @
forelt s o #1 el 3w W E
ST Hehal |

3 Y H IW, gHI HYEl H TH q1Y
ITA w78 & 5 g |

5 Wﬁﬁ%%ﬂ.,ﬁlﬂiﬁmacbcc<d<e
%4 # ; foret ft @ SRR oy & e 2w
T A 2 |

(c)

(d)

frofa e & swmed & o 97 y@r @ W @
WNefieh 3t Favada, 3@ F @l w9 ik
e, § M At wgena wun fashed] 1 agara
I FaA A7 & B § | Haq wAfaeEd 3 T
sl @+ afdsudm qur dwer i,
Heafaa o faom & fow # 9 @ 3@
Brgd, e fvlam i siftes &fdw & smar 2
Sftam 1 w9 fawewma § | sR® @it % ue e
& R faapeat 6 agara 2, i ot ¥ gg @

Yo ;. HEH B 9= i g R 2 T
W-J.—m%%aﬁaﬁ;@mfﬁ%aéﬁ e ekt

1Y 1 A T R 61. frafafaa wedi § & $a vs, 35w whede
FY7-2: w1 h 3Fd 7Y 84 B | : . ’
T 77 AT A P 33| e (e @ S 9 3

-1 TH TE B 2

(a) 39 9% &1 IW, A1 A 9 foreft usp s
rehel 9 X fen s = R, b g
HYT H Fohdl IWEM H TE feAT S

(a)

Fyfs Ml amifies @@ #
FHAR Hcdt B 3 e Bt w791 2
21

S| ayfis e sffemast sk sH
(b) 38 9 H IA, A1 F Tt oft v e ey Fo e @ w0 2 | il

&1 bl IFANT e 51 Hpan @ |

ST G S wehar R, feeg A1 A @ A gg-favarE 1 e F 6 fewa

foreft wh o #1 et 39w AE TE Bl |

ST bl | it @) #R e #, redd w9 fawes B wme
(d). ¥8 ¥¥ I, 3L, H TH Y Fr=dt et 7 A, fobeg wga afrs Raspew

ST 0 ot T fon i | R4 o T € A A R |

(32-A)

Downloaded from www.cclchapter.com



59. Consider a 3-digit number. Directions for the following 4 (four) items :
jon : What i ? :
{astion 3 fhe thugher Read the following four passages and answer the
Statement-1: The sum of the digits of the]|.
nuinbe 16 equal to the' produet items that follow the passages. Your answers to these
of the digits. items should be based on the passages only.
Statement-2 : The number is divisible by the
sum of the digits of the number. Passage - 1
Which one of the following is correct in respect Th Sl B s
e paradox of ch llustrated by the
of the above Question and the Statements ? s st et 4 @
S ; Buri
.- The Qroatiis driiaiicsd by sing story of Buridan’s ass. Jean Buridan, the 14
one of the Statements alone, but cannot| century philosopher, wrote about free will and
:]e answered using the other Statement | the inability to choose due to numerous choices
one.
- . and uncertainties. In the story, a donkey stands
(b) The Question can be answered by using :
dithisr Statiiitnt alis between two equally appealing stacks of hay.
(¢ The Question can be answered by using| Unable to decide which to eat, it starves to death.
both the Statements together, but| Changes in technology and innovations such as
cannot be answered wusing either
P T e smart phones and tablets only exacerbate our
d The Question cannot be answered even glut of choices. Constant connectivity and
by using both the Statements together. overconsumption of real-time data and social
B e e siiideon: il i B o & < d < o media can leave little room for self-reflection and
any two successive ages differ by 2 years. rest, making decisions more difficult. Life is
Question : What is the age of the youngest| about choices. Many people are overwhelmed
ild ?
child ¢ with attractive life choices, yet find themselves
Statement-1: The of the eldest is 3 times :
the yiiengest. unhappy and anxious.
Statement-2 : '_Th; average age of the children|g;,  Which one of the following statements best
: v 3 reflects the most logical message implied by
Which one of the following is correct in respect Ll 5
of the above Question and the Statements ? the above passage ¢
(a) The Question can be answered by using (a) Modern technology enfeebles societal
one of the Statements alone, but cannot structure and makes life difficult.
b d using th
a;aﬂ::swere ST Deatpeinot (b) Modern life is full of uncertainties and
(b) The Question can be answered by using endlees difficult choices.
either Statement alone. (¢) We are influenced by the opinion of
(¢) The Question can be answered by using others and have no courage to follow our
both the Statements together, but own convictions.
cannot be answered using either i
Stateminit dlons: (d) In our lives, having too few choices may
(d) The Question cannot be answered even not be a good thing, but having too many
by using both the Statements together. can be equally as difficult.
XDTG-S-DNK (33-A)
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ufess - 2

Wi # e fod aeg @ | wd vt @l
3R "ugr S Hifow gimeRal § o fRw +@
$ 2 | s9d & oo # sgEr 34 % we
g € | WWrd daieel #1 TR
SRR, e § e § 76 % g |
e & A S EHEC 7, 3 § gaw A,
Tnfeq focfim deensii & wfa dww, 3@ ar &
YR g1 H 3WE fb & ufEr F fog
EE Faradt 3R Far-eared # 4 HH-H gad
=St 2, 3R IR rravas |, @ I g W
Tehd & a1 78, R (T € A1) F = G
g1

62. TT F=dl & faxfigwwr & gey A, F=fafea
HE 0 ¥ FHHH ¥, 38 wfedg § Fifga gl
%! gaad &9 ¥ yfafafed w@ & 2

1. gt @ fowfia +@ % v w @=hen
TATRYT JEYIH 2 |

2. URERl % 3FAR S §Y Bl hl SAATIHRAT
2l

3. foxfa denfieh # Faserd= srmavee & |
= feu U e &y W wd I g
(a) had 13 2
(b) %ad 230 3
(¢ w%ad 1303

@ 1,23M3
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ey 92, Y WA A H Y
@y & U wewr yeM w@ & | 9 M
Al I I8 Ta-aal fedt 8, f6 3 qanedt
Hma fuifia #, I wwifr f Fafy 9%
% fou gwadifia @, g & @war &
@Y 3 7 U | 38 favam fman s @ 6
Y A el e mn e e wwew
AT I Uk del Gy & A T@yeEdEl a9
FqEgHE AR fowE (R&D) % WEAw @
Al g, e s@e fou u e
Bt 2, S o6 9o i g8 g F forw omama
fts dma & &9 ° Bt & | TwlY 97 9
ey 3R FiHa @, I @A N gan
H F T F A9 et himd F A b,
YT HH I Y FAVEA N IFTHIH T AT
ATl H1 Ufdhd YT S % fou uw Ay
foramugfa Suetey wua & |

63. I U= F wuR W, fr=fafaa

wﬂﬁﬂs‘ﬁ
Uz A arl ® for MU ¥ wEwr &
FWO, Y et @ AW HA H
%mwmaﬁrmmﬁﬁqtma’mm
|

2. v 3arel & forw sy 2w s A,
wwmaﬁ%mmw
|

3. 3% oW § wreh-wreey fify s
HH & INH, THEER B @9 g87 HA
I fimdl W gEnd YTy HOAT J&d
AL BB |

4. SR ¥ U 77 mawws ? 5 9' 9
T g & AR R Al H

HAEEFHRAA & d9 IJ9YFd Tge T |
STk qEuronE § & AN @ g ¥ 2
(a) 132
(b) 13 4
() 33W 4
(d) 233

(34-A)



Passage - 2

Household finance in India is unique.
We have a tendency to invest heavily in
physical assets such as gold and property.
Steps to encourage the financialization of
savings are critical. A populace accustomed
to traditional processes will not simply jump
into financialization. Hurdles to change
include onerous bureaucracy, a scepticism of
organized financial institutions, a lack of
basic information about which of the myriad
services and providers is best for each family,
and how (and even if) one can make the

transition between them if necessary.

62. Regarding the financialization of household
savings, which of the following statements
best reflect the solutions that are implied by
the passage ?

1. A flexible environment is needed to
develop solutions.

2. Households need customised solutions.

3. Innovations in financial technology are
required.

Select the correct answer using the code given

below :

(a) 1and 2only

(b) 2and 3 only

(¢) 1and 3only

(d 1,2and3

XDTG-S-DNK

63.

Passage - 3

Pharmaceutical patents grant protection to
the patentee for the duration of the patent term.
The patentees enjoy the liberty to determine the
prices of medicines, which is time-limited to the
period of monopoly, but could be unaffordable to
the public. Such patent protection offered to the
patentees is believed to benefit the public over
the
research and development (R&D), although it

longer term through innovations and
comes at a cost, in the nature of higher prices for
the patented medicine. The patent regime and
price protection — through a legally validated
high price for the medicine during the currency of
the patent — provide the patentee with a
legitimate mechanism to get returns on the costs

incurred in innovation and research.

Based on the above passage, the following
assumptions have been made :

1. Patent protection given to patentees puts
a huge burden on public’s purchasing
power in accessing patented medicines.

2. Dependence other countries for
pharmaceutical products is

burden for developing and poor countries.

on
a huge

3. Providing medicines to the public at
affordable prices is a key goal during the
public health policy design in many
countries.

4. Governments need to find an appropriate
balance between the rights of patentees
and the requirements of the patients.

Which of the above assumptions are valid ?

(a) land2
(b) land4
(¢) 3and4
(d) 2and3

(35-A)

Downloaded from www.cclchapter.com



XDTG-S-DNK

ufede - 4

NI 1, TN & Fafhe ga (1) g
3R wiféa w@d g, fefee srdferaean $i wafg
I giifeaa s =ifge | 18 oft, W@ A §
vl frret Bt R, U e 6 we foeef safe
#t st semiiat gehe @ &, Tavada T8 S |
T H qovE I 3 safdad % o g
=ifey, @ 3 gfoa €0 & 32 & =1, S 3
=18, I % fow gaw, sfeeEfa o ghia s
=fey | g@feT, 3o W& HI g1 WE TR H
TEYadd, S SAEdl-hfgd R Seaeet @,
gt BT TR |

64. 39 Uftedg & uR W, Fefafea gdumomd

oS TS

1. fawa = g o sfter 98 2, s

T HdTaEYT & fore gog 2 |

2. o ot qayads & o9 e SmumE

Y2
39 qEuronatt § & s dg 23 2
(a) had 1
(b) HaA 2
(¢) 1 3R 23=
@ Fa 1,782

. Toreht ofien &, 9w ywA-9El, 9Wa: P, Q, R 3RS
7 ¥ Yo 9w-99 o fore srfeepam 37 100 # |
foenfeiai gro ww fope o o7k quifent & € | 18
oft foreneff n faft afieni & 999% wHis o Twar
Bl nH AR TR ?

(a) 16
(b) 17
(e 23
(d) 35

66l

67.

(36-A)

et cavt wl oer, KA A TN A & FB A
ff T &1 3w W uR dfes ufgm gm
uftEfid e 2 | foras @ faftm ol @ @
forar <1 whar 8, 8 wHR A g ot @ e
ufeai s S @ Hr A & 2

(a) . 12

(b) 18

(c) 24

(d) 36

fopedt AR wY it A9 @l d 4m 3R
HeE § 22 m 8 | 140 cm x 60 cm HTHY I
Tl 1 39 W fasm R fF et whgE
T eh | Tt oft Tma @ fedt oft fomme d
foamn < ghar B, SRl d% 3Ee fRAR wE *
fpat & THi @ | WY W Al fRat
5 3T Hhdl & 2

(a) 6

()t 7
(c) 8
k) 9

P, Q R, S 3R T uiw =afw &, fomd & v
Sfth ! T HE G191 8 | FE-1 9 P A, 7
& Q ! |y 1 Hehat & | FE-2 T @ R I,
1 S & G I R | HE fRad geR @ @i
T Hhd & ?

(a) 6

- 13

(c) ., '18

d 24
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Passage - 4
India should ensure the growth of the digital

economy while keeping personal data of citizens

secure and protected. No one will innovate in a

surveillance-oriented environment or in a place

where an individual’'s personal information is

compromised. The ultimate control of data must

reside with the individuals who generate it; they

should be enabled to use, restrict or monetise it

as they wish. Therefore, data protection laws

should enable the right kind of innovation — one

that is user-centric and privacy protecting.

“.

XDTG-S-DNK

Based on the above passage, the following

assumptions have been made :

1. Protection of privacy is not just a right,
but it has value to the economy.

2. There is a fundamental link between
privacy and innovation.

Which of the above assumptions is/are valid ?

(a) 1lonly

(b) 2 only

(¢c) Bothland2

(d) Neither 1 nor2

In an examination, the maximum marks for
each of the four papers namely P, Q, R and S
are 100. Marks scored by the students are in
integers. A student can score 99% in n
different ways. What is the value of n ?

(a) 16

i) 1T

(e): 28

(d 35

67.

(37-A)

A flag has to be designed with 4 horizontal
stripes using some or all of the colours red,
green and yellow. What is the number of
different ways in which this can be done so
that no two adjacent stripes have the same

colour ?

(a) 12
(b) 18
(c) 24
(d 36

A rectangular floor measures 4 m in length
and 22 m in breadth. Tiles of size 140 cm by
60 cm have to be laid such that the tiles do not
overlap. A tile can be placed in any orientation
so long as its edges are parallel to the edges of
the floor. What is the maximum number of
tiles that can be accommodated on the floor ?

(a) 6
() - 7
(c) 8
d 9

There are five persons P, Q, R, S and T each
one of whom has to be assigned one task.
Neither P nor Q can be assigned Task-1.
Task-2 must be assigned to either R or S. In

how many ways can the assignment be done ?

{(a): '8

(b) 12
(c) 18
d 24
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FReferfee 3 (i) svaron & farg g :

fefoiaa diT h=se i iz it gfieae’ & #i9
3 qI FeE % I dfw | 37 Fen & fow

69. TI% 2 gm, 5 gm, 10 gm, 25 gm, 50 gm MR
I gag HEA ° wid & fyas & | Fafafea

HoA T fo=m Hifs .
F4-8-%9 7 faah @fie savas 2 | ufesdg -1

2. ¥ faa=hl #1 3@ W 78 gm WR T
FH & o 7 4 w9 e Iw@m § @

g o, Jafy SUe @ srdferawen %
Feq foags #q aRaR W e wm amen

A1 HHA § |
T Bl § @ WA T A mds B, fi oft Tt ol wiow 3 aqd i
() %ad 1 H1 gt % sictd, e awdi fafa A
(b) FHad 2 2| WA T AT @ YR ¥ g
© 13Wadd R % SV W T R, fae Iw A

AT 1 AT FET B @ 3 S e 3w
T guhel it e wE FE F v when w0
q Afus qerar fewm # | mreafys siyar s=a@

(d A 1,T8 2

70. fr=fofga w famm #ifsw . fren art @ % foau Stemmd B SR
L :{;f%iﬁ%Awa@a%Bﬁ,q At 2, 3 7d gu v & @ ST 6
FHferdt @t s
I. A-BH AT RATSITE 2 BH | it
. AxB# 314 3 ADrT 78 2B | 71. 3 UN=B2 ¥ NE@H W FEAN R4l 2, I
Iv. :T;g:a;alw&f%Aq?hW%Bﬁ,? frafafes s § & s9a@ w, gaifs
gyifaa &9 ¥ gfafafaa ?
V. A+tBHF ITRATASAEL, 7921 8 .m%.
B | (a) Al IR HiAS § THET I= ¥ AR
#U7: PxQ P-T, T+R, R+S i i
Aedl. QT (b) ST H Fa1 wrdr § Ffdea w9/
o ¥ e u wedl g8 foan 3 smeiEmad & wem %
i e o Pl & ak # P § 2 s,
P v T 2 o (0 o e & SR dri B aEEti
(@) o & et Fred. Frfi @ | T F fore g e a1 I
(b) ot & Sraen P2 i e 2 | ¥
(¢ T & fsad.1 3 faswd.2 21 fmifim @ foem woreht # wgfaa w9 & sfwfe
'd# | o s wifee @ifs fifera @it & foro
(d) H97 8 T a1 fswd.1, 7 & Frswd.e ffia IR g & |
BT 2 |
XDTG-S-DNK (38-A)
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69.

70.
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There are large number of silver coins

weighing 2 gm, 5 gm, 10 gm, 25 gm, 50 gm

each. Consider the following statements :

1. To buy 78 gm of coins one must buy at
least 7 coins.

2. To weigh 78 gm using these coins one can
use less than 7 coins.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2only

(c) Both1land2

(d) Neither 1 nor 2

Consider the following :
I. A+B means A is neither smaller nor
equal to B.
II. A -B means A is not greater than B.
III. A x B means A is not smaller than B.
IV. A+ B means A is neither greater nor
equal to B.
V. A + B means A is neither smaller nor
greater than B.
PxQ, P-T,T=R, RS
QT
S+Q
Which one of the following is correct in respect
of the above Statement and the Conclusions ?

Statement :
Conclusion-1 :

Conclusion-2 :

(a) Only Conclusion-1 follows from the
Statement.

(b) Only Conclusion-2 follows from the
Statement.

(c) Both Conclusion-1 and Conclusion-2

follow from the Statement.

Neither Conclusion-1 nor Conclusion-2

follows from the Statement.

(d)

Directions for the following 3 (three) items :

Read the following three passages and answer the

items that follow the passages. Your answers to these

items should be based on the passages only.

Passage -1

In India, while the unemployment rate is a

frequently used measure of poor performance of

the economy, under conditions of rising school

and college enrolment, it paints an inaccurate

picture. The reported unemployment rate is

dominated by the experience of younger Indians

who face higher employment challenges and

exhibit greater willingness to wait for the right

job than their older peers. The unemployment

challenge is greater for people with secondary or

higher education, and rising education levels

inflate unemployment challenges.

71.

(39-A)

Which one of the following statements most
likely reflects as to what the author of the
passage intends to say ?

(a) Enrolment in schools and colleges is
high but there is no quality education.

(b) Unemployment must be seen as a
function of rising
aspirations of young Indians.

education and

(c) There are no labour-intensive industries
to accommodate the huge number of
unemployed people.

(d) The education system should be properly

designed so as to enable the educated

people to be self-employed.
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wa # waw T 2, fame % am

iiigg*’”
%gg%ﬂgi

:

72. Trafafes s § @ SR =, @ ui=se
SN = Halfaesh difehsh, Jhgwh 3R TR
9l ! garaq &9 | yfafafed @ 2 2

(a) oMY TomHwl w dwe ggfd
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@ & S 319 ARl Rt @gd &
At ugfa ol anifis faam &
gfSteor &3 W Hfza & |

Iz ae-E ® f wft dafet 1 gnites
g ff smEws @, afe FH wd
AE-AME B 3N 39 THR U F fow
TRISU T 39ERTt & |
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1
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=

et
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£

(c)

3

133

(d)

73.

74.

75.

ufesg - 3

“os7 w1 sifw @R @ W A @
2, 7 & 3 T W | wn R, 9w
2 S & =afe wa @ g =1, aifs a8
e & @Y, R g+ AT A9 qSiE H
ved fom, St o 7 w9 W owh | & fiw
AgqA E, TST H A gigETa W@ w5

1 AR A IE; aiE d o wle B ogom, wiy
IR BAFR § T T B, T @ THGR &
FEYEH HE Hw |7

I Ui=ag & MuR R, Frefafes o & &
HH-AT T, T & TH @& & gaiaq &9 §
Seh Hdl B ?

(a) = gLam

(b) IR 3R TH &1 Wy

(c) WIS HqEEar

(d) TEdEal

2192 Y 6@ 9T T T INHS T BT 2
(a) 0
®) 1
) 2
(d 4

HAshH

ABC_ _ ABC_DABBCD_ ABCD

R fem $ifse, st 5 s ffwe sfess =
FTE AT 2 |

frafafea & @ SR &, @ F3F @
HAT 8 2

(a) DACB

(b) CDAB

(c) DCCA
(d) DDCA

(40-A)
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Passage - 2

“Science by itself is not enough, there
must be a force and discipline outside the
sciences to coordinate them and point to a
goal. It is not possible to run a course aright
when the goal itself has not been rightly
placed. What science needs is philosophy —
the analysis of scientific method and the
coordination of scientific purposes and
results; without this, any science must be
superficial. Government suffers, precisely
like science, for lack of philosophy.
Philosophy bears to science the same
relationship which statesmanship bears to
politics movement guided by total
knowledge and perspective, as against
aimless and individual seeking. Just as the
pursuit of knowledge becomes scholasticism
when divorced from the actual needs of men
and life, so the pursuit of politics becomes a
destructive bedlam when divorced from
science and philosophy.”

73.

Passage - 3

“The last end of the state is not to dominate
men, nor to restrain them by fear; rather it is so
to free each man from fear that he may live and
act with full security and without injury to
himself or his neighbour. The end of the state, I
repeat, is not to make rational beings into brute
beasts and machines. It is to enable their bodies
and their minds to function safely. It is to lead
men to live by, and to exercise, a free reason; that
they may not waste their strength in hatred,
anger and guile, nor act unfairly toward one
another.”

Based on the above passage, which one of the
following terms best expresses the ultimate
goal of the state ?

(a) Personal safety
(b) Health of body and mind
72. Which one of the following statements best (¢) Communal harmony
reflects the most rational, logical and practical .
message conveyed by the passage ? (d) Liberty
(@) Mo_dern s?tatesn'len. e 1w well 74. What is the remainder if 2192 is divided by
trained in scientific methods and
philosophical thinking to enable them to 6?
have a better perspective of their roles, @ 0
responsibilities and goals. ®)
(b) It is not desirable to have Governments
g (c)
managed by empirical statesmen unless
well mixed with others who are d 4
grounded in learning and reflect
V. 75. Consider the sequence
(¢) As the statesmen/bureaucrats are the ABC__ ABC_DABBCD_ABCD
products of a society, 1t'1s c'lesuabh? to that follows a certain pattern.
have a system of education in a society : 3
that focuses on training its citizens in Which one of the following completes the
scientific method and philosophical sequence ?
thinking from a very early age. (a) DACB
(d) It is desirable that all scientists need to (b) CDAB
be philosophers as well to make their
work goal-oriented and thus purposeful (c) DCCA
and useful to the society. (d) DDCA
XDTG-S-DNK (41-A)
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AB 3 CD 2-37%h! arelt g&amd & | AB #t CD
¥ O FH W EEA 3-37h! I F&AT DEF
UTH Bt 8 | DEF & 37 3-371 &1 §&I1 GHI
TG A 975 TH AR | MU A A, B, C, D,
E,F,GHIMmswg | aRE=0 F=g 4
A+B+Cﬁh‘H%EW%?

(a) 6
(B) =1
(e) 8

d 9

gis Yt P, Q, R, S 31 T % an § f=fafeq
FHYAl W faar fifse, e @ Fa9 g § ik
U HY9 36T 2 |

P 3 QH & s, @ & forw g
T |

R 3R s # ¥ +9-8-%0 @, S
% fore g m |

R, S 3R T ¥ ¥ fisd-a1fis
A, #d % fow g4 M |

freafafes & @ sHwA fsd femr s
gehat 2/ o Hea B 2

1. ®d % fou #9899 v yemft 53 T
2. S®HI HE F forg g m |

= fow T e 1w W wd I g
(a) a1

(b) Had 2

(¢ 13 23

(d Jd@1,T82

T HY ;

HAT HYH :

qF H9 :

78.

79.

(42-A)

= e P, Q, R, S 3 T ufw # €, 3@

Wﬁi:

. IRpuwR d@QasaFiamd )

II. IRRINSTITE, A T3wmT R |

frafafgs & @ FwA fissd feen o

gehd! 2/l ST Fehd B 2

1. AR TETTR, AP IR A FuAHY
T I A B |

2. I QuaR APETR

H= fqu U e @1 wEm = wd I g
(a) a1

(b) FHaet 2

(¢) 1 3R 23Mi

d F@ 1,782

7cmx5cmx3cmﬁm3ﬁa1ﬁ@m%

S$HI: Tem x 5 cm, 5¢em x 3 cm, 7 cm X 3 em

fomai aet wepE wert F ySs I H A,

R AN AS @ @ &n = R | q9 3@ AN A

FRHF TS 1 cm Y1 & fafim o9 s/em &=

feu sma & | Fr=feifea ot & & FR-wA af

&2

1. U8 J&-di® 15 B uq & e et oft
%ot W Shig TT & 2 |

2. UH Ii-dF 6 B v & s I-diw
;ﬂm,@ﬁﬁaﬂt@ﬂﬁhﬁ,ﬁ@
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(a) ae 1
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(a) ﬁﬂﬁiﬁﬁq’ﬁ

(b) UH

© JH
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76. AB and CD are 2-digit numbers. Multiplying
AB with CD results in a 3-digit number DEF.
Adding DEF to another 3-digit number GHI
results in 975. Further A, B,C, D, E, F, G, H, I
are distinct digits. If E = 0, F = 8, then what is
A+B+C equal to?

(a) 6
(b) 7
(o) =8
@ 9

77. Consider the following statements in respect
of five candidates P, Q, R, S and T. Two
statements are true and one statement is
false.

True Statement : One of P and Q was selected
for the job.

False Statement : At least one of R and S was
selected for the job.

True Statement : At most two of R, S and T
were selected for the job.

Which of the following conclusions can be

drawn ?

1. At least four were selected for the job.

2. S was selected for the job.

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

XDTG-S-DNK

78.

79.

80.

(43-A)

Let P, Q, R, S and T be five statements such
that :

I. IfPis true, then both Q and S are true.
II.. IfR and S are true, then T is false.
Which of the following can be concluded ?

1. If T is true, then at least one of P and R
must be false.

2. IfQis true, then P is true.

Select the correct answer using the code given
below :

(a) 1only

(b) 2only

(¢c) Both1land?2
(d) Neither 1 nor 2

A cuboid of dimensions 7 cm X 5 cm x 3 cm is
painted red, green and blue colour on each
pair of opposite faces of dimensions
7ecm X 5em, 5em x 3 em, 7cem X 3 em
respectively. Then the cuboid is cut and
separated into various cubes each of side
length 1 em. Which of the following
statements is/are correct ?

1. There are exactly 15 small cubes with no
paint on any face.

2. There are exactly 6 small cubes with
exactly two faces, one painted with blue
and the other with green.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

(c) Both1and2
(d) Neither 1 nor 2

The letters of the word
“INCOMPREHENSIBILITIES” are arranged
alphabetically in reverse order. How many
positions of the letter/letters will remain

unchanged ?
(a) None
(b) One
(¢ Two
(d) Three
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HH & & foru s
SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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F= HTH & 10 T
SPACE FOR ROUGH WORK
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